Name of the Trade - Wireman 4" Sem- NSQF - Module 1 - Transformer

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
1 |Which principle the transfomer works? Self induction Mutual induction Fall of potential Lenz's law 2l slR sal Rlgld uR ACs Bo552lol 124 22U BoS52lal Sl Als WelAaucd Qodsell [ B 1
sl 52 87
2 |Which is the colour of fresh silica gel? Green Blue Grey Yellow dlxt RAstL ®ctsll 200 521 lat 0eyY Bl acl B 1
87
3 |Which part act as protective device in Conservator tank Tap changer Temperature gauge Buchholz relay s2L QUOL 2leusHRU $03d2 2o U AR SIURAR Y o5l Ra D 1
tranformer? 8RUHS Guswl d3l3 stel
52 8?
4 |Which part reduces the heat of Transformer oil Breather Cooling tubes Conservator tank [l el gledsllR 812 FETR R NG oflu? sclloL yut $o03cleR 2o% A 1
transformer core and winding? el clfoslole(l oMl el
ad 87
5 |What is the name of transformer? Audio frequency High frequency transformer| Poly phase transformer Current transformer  [2lod 80120 ol 9 ©? Al [Bsaall a8 [$saal 2lauslR WAl %23 aleslilR 532 2lous R C 1
transformer 2lod SR
g
i
6 [Which transformer, the secondary Ignition transformer Pulse transformer Isolation transformer Instrument transformer [s2l 2l SIHR UL, A50531 Bo{lalet 2le SR PETEETRRE UBAUAUA 2l R 6&@%& 2l slR C 1
voltage is same as that of primary Al A Ylaudl dle
voltage? B2l % slal B?
7 |What is the name of transformer? Ring type transformer Core type transformer Current transformer Air core transformer  [glegldRe] olli 9 B2 oL usRell 2SR | 812 UslRe] 2leslilR 532 2loAslR AR SR 2SR D 1
g
i
8 |What is the emf equation of transformer? 1 E =4.44 Fq,, E =4.44 Nq,, E =4.44 FNq,, ;loﬁaﬂeaj Emf 4ls?0L %j 1 E =4.44 Fq,, E =4.44 Nq,, E =4.44 FNq, D 1
E = 4.44 —NB6, 87 E = 4.44 —N6n,
2F 2F
9 [Which is denoted by the letter g, in the Maximum flux No of turns in primary No of turns in secondary Frequency 4.44 FNgmetll sl gm UG $ESU YR 2odtell A5eSIUL 2ortall Avall (5scerll A 1
formula 4.44 FNq,, ? WER Gl Y YAAAHL UL HuRYl
87
10 [What is the name of transformer if the Step down transformer Unity ratio transformer Step up transformer Auto transformer ol elosldR QM2 (K) 1 RU SIGet glotslR Y2l 2ol RU AU 2lo R el 2l SR [® 1
transformation ratio (K) is more than 1? $cll duUlR &l dl 2lod SR

oS 1R ol g B?




11

Which is the transformation ratio?

E: N2 |2

E: N: L

E:
E- N: [z

N2 I

2leusliR RMA 52 B?

12

What is the name of transformer part?

HIGH VOLTABE

7
oror &7 o D

—
—F—

8 1M4 alz 1

LYY Y Y T

LOW VOLTAGE

WMNAL1ONZ

ON load tap changer

H.V. Bushing termination

Manual tap changer

L.V. Bushing termination

2L SBIR elldLe] ol g B?

ol Als U Ao

H. V. ofQlat e(HaAatet

Ao 2U Ao

L.V. ojlelot 2(da2tet

13 |Which factor the copper loss of a Current Voltage Square of current Square of voltage  [3lo80{Re] SlUR AlM s2U 5§32 aleeos $320ll <ol adleeosatl clol
transformer depends? URoo uR ulRd B2
14 |Which is having high efficiency? Transformer Alternator AC motor DC motor slaL G stetidl uRld 82 FIEYRRE) NIEEEE ARAL HleR SIR{l e
15 Whi(.:h formula is used to calculate the ___ Output power . o - Input power 100 Output power Output power 2l glRell stdaasll _ __ Output power 100| _ Inputpower 100] Outputpower 100 | n= Outputpower
efficiency of transformer? Input power + losses Output power + losses n :mxmo :m 0 DlQldﬂ HI2 sl eptaﬂ Input power + losses Outputpower + losses ni—Outputpower—losses Outputpower + losses
GualoL L 8?7
16 [Which is the formula for percentage 2slall adlee QYA
ion? Vioad — V noload Vrooad — Vicad Vioad Vnotoad + Vicad i i 92 Vioad — Vnoload Vhotoad—Vioad Vioad Vhotoad+ Vioad
voltage regulation” %100 %100 noloa 100 H2o] Yo 53 B7 %10C %100 <100
V load Vioas Vnoload = Vload Vioad Vload \Aoad Vnoload - Vload Vioad
17 |Which material is used for transformer PVC Porcelain Plastic Baklite 2l gllR glalom 1 s8¢ NEE WALt AR s EEGE
bushings? Al GuAloL B2
18 [Which principle auto tranformer works? Lenz's law Flemings right hand rule Self induction Mutual induction A2l 2lerSR saul Rgic Qodsoll [an AU 1Rl slesll ACs Bo552Uol 124 U BoS52Uat
UR sl 5% 87 BT
19 [What is the name of test of single phase Short circuit test Open circuit test Polarity test Continuity test Rl ¥ 2lot Rl 2eq] e AUz 22 wluet Ul8e 22 WARIZL 2 $o2la3)el 22

transformer?

) V,ISLEAS THANV; (Vp—V4)VOLTS  b) V, IS MORE THAN V ; (Vp+VgIVOLTS

wvtLrang

ollH g B?




20 |What is the connection name of Star - star Star -delta Delta - delta Delta - star 2o SlRell solsaloto] ollH RR 1R RR -3l Sl - $cl Scl - wR
transformer? 9 87

lZU J)ZV L!W §
3
H

21 |Which is the name of connection? Star - delta Delta - delta Scott connection Star - star gols2lota] ollH 9 B? RIR -5cal Scal - 3cal 812 salsalel RR 'R
D H d §
i

22 [Which test of transformer oil is illustrated? | Field test of insulating oil Dielectric test Crackle test Acidity test 2o WSl s 8o Aol AU ESCElo] SIBAlses e 35cl 22 AR 22

2o R B2 Bes 22

LIz

23

Where synthetic liquid transformer oil is
used?

Generating station
transformers

Primary substation
transformers

Refineries and hazardous
location

Secondary substation
transformers

RARSs yatdl alotsaiR
WSl GUAL sl Al BD?

ogo(3[0L e 2lot
2lod SR

Y-l Aol elet
2ler sl

Rs18at3 1 Aol sl
Lot

AS53| U el
2lo sl

24

Which part produces magnetic flux in a
transformer?

Primary winding

Secondary winding

Tap chager

Core

s2ll GUOL 2lotslHRUL
Yolslal setsy UEL 52 B2

YraH3l agoslol

A3 cAlSeS(oL

2U Ao

51R

25 |Which is the function of breather in Obsorves heat Indicate oil level Prevents the moisture eniry| Reduces tank pressure [glelglRHl A ofltRq] oRHl A ® AU Add oldld | A yaaldl wesld 8 | 2isld ecal weld 8
transformer? st 53 B2
26 |Why the transformer core is laminated? To minimise the To minimise the eddy To minimise the copper | To minimise the friction [3H 2ledslHR 51 AMARS BRI A Al 22 Al datsall | sluR Al watsal 12 | udel Al gatsal
hysteresis losses current loss loss loss s 87 galsal M2 e ue

27

Why shell type core is used for medium
and high voltage transformers?

To avoid leakage of flux

To reduce the tank size

For effective cooling

To reduce copper loss

HelH Aol GRU AR
2l s 12 A ysiall
S12 2l HIZ dURlA B?

55 [ASwa elaall
e

2lsld] s€ walsal

USRS 655 HI

51Ul clld delsal
e

28

Which type of transformer is used in
automobiles?

Instrument transformer

Ignition transtor

Scott connected
transformer

Isolation transformer

L2IHIGUS CUHT 52Ul YslRell
2lot sl Guallol el 82

&Sdgﬁce 2lodslR

©0{[3lel 2l SR

B2 saA5eS 2l

UBAAUA 2l R

29

Which transformer is calssified based on
the shape of core?

Air core transformer

Shell type transformer

Audio frequency
transformer

Instrument transformer

S0l ULSRell AUUR sl
2ot 5Ra collyd srami
Ud B?

U2 512 2laUsR

A USR] 2loFLIR

USAL [35ctarll 2lortsR

6&1;%6 2l 52




30 |Which is the application of ring type High frequency High current measurement Low frequency Power distribution oL YsiRell 2l SHRaA 88 [gsctarll Hiuat 8lES 82 HMlUstl Al (5sca{l Hiuet ulaR Slauglojet
transfomer? measurement measurement GualaL sA0 B?

31 [How the capacity of tranformers are KW KVA KWH MW Lot lAell &idl 5l Rld KW KVA KWH MW
rated? olclactHl A B?

32 [Which part of transfomer is used to Iron core Secondary winding Primary winding Tap changer ogatR(3ol Rl A el IR As0531 closlol YlaH3l aeSoslat 2U AR

compensate the voltage drop to
consumer receiving from generating
station?

Al ALESall AR SIU
ol Yalsall glodSHRall sl
aloLell GuloL A 87

33 [Which condition the efficiency of a Copper loss is less than | Copper loss = iron loss | Copper loss is more than | Copper loss is 1/2 times [gled$l3R¢{l stlatHdl s¢ SIUR Al A Aol | SlUR Al = el | SlUR AlM A 2ol Al | SlUR Al A el
transformer is maximum? iron loss iron loss of iron loss @AM Mo sl B2 A 5l Y B A” sl duUR ® Al 1/2 010 &

34 |Which loss is a variable loss? Copper loss Iron loss Friction loss Windage loss sl Al ARAud A B? SlUR Al Aol AlRL R EET Acd% AR

35 |Which loss is determined by conducting Friction loss Windage loss Iron loss Copper loss e ulse 2w silaA saul ael Al Acd AlRL Ul2dol AlRL SLUR Al
short circuit test? AY otsSl scUHL wUA B?

36 |Which loss is constant for no load and all Windage loss Iron loss Copper loss Friction loss oll cls Aol et cAlsell ol Aod Al y2Aal AR SIUR Al adol Al
load conditions? RAQA M2 sA A AU

& 8?7

37 |Which is the purpose of bushings in To connect primary To connect both inputand | To connect secondary | To connect the neutral |gled SR U offQlouall & 9 g5l YA Balye el ulBeye $5c A5o53 2ot Ject eflaca

transformer? terminals only output terminas terminals only terminals 87 el salse s2al | 2Bl ol sase sal5e Scll HI2 sal52 sl HIS
R sRal HIZ

38 [Which type of test is known as DGA test | Measurement of partial Moisture analyisis Dielectric gas analysis Dissolved gas analysis [gle801R ¢jl@loL 2ot uilels Sl of Ao AelAR™U stsAlses AU AailARY slalleas L

in transformer bushing testing? discharge sl YslRoall 22 DGA 22 (Yol Al [ARU
d313 Ao 82

39 |Which is the advatage of auto Can isolate the Better voltage regulation | Used for power distribution| Can be used in EHT  [Q cll€Sos1al 2lort$1HR0{l A50531a Yan3lell ay U3 cleey uleR sluglojet Hie EHT w2l
transformer over two winding secondary from primary supply AVA A2 2lorslHRaA w53 A3 B 3YA3Lel aAuA B GuloL 531 asla B
transformer? SlAEL 9 B?

40 |Which is the application of auto Servo line correctors | For low voltage distribution | To measure the voltage | To measure the current [l 2lot$13Re1l Guallol Al cllgat JyuiRsl o(lAl Al aAlcel Hiuall $20 HlUcll
transformer? sA B? Sludloat w2

41 |Which is the purpose of parallel To reduce the voltage To increase the output To reduce the no of Provides more reliability |2leglHRell WA cleos QiU ualsall ulBaye ey 2led SRl vl atsal Wl ay
operation of transformers? drop voltage transformer of power AUURet sRclloll & sl B? w2 auRal M2 e (Qatollatdl Yetet

50

42 [Which condition is to be satisfied before |Phase sequence must be Type must be same Polarity must be same | Capacity must be same [A [Rdlct 32 glodtslRa %o Rsclod UMLet UsR Aol sl [WARSL Aot Sl ASA | atcll AHLat &lcll
connecting two single phase transformer same WRAAML 50158 5cll USCL 8l A A S
in parallel? 585 RA(AA ANl B?

43

Which is the application of scott
connection?

Transform 3 phase to 2

phase

To stabilize the output
voltage

To get rated power output

Transform 3 phase to 6

phase

B2 5a52eloll GUADL 521
87

3 305Ul ol 2 Jo3ul
3UldRd sRcll

ulGaye dley RAR
sl HIZ

2SS Ul wGaye
Ancal 1R

3 305Ul ¢l 6 Jo3ul
FULARA s2cl




44

Which type of cooling is employed for
distribution transformer upto 100 KVA?

Natural air method

Qil blast method

Air blast method

Forced circulation of oil

100 KVA Ytlloit [SRge’jatet
oA SHR HIZ sl YslRe]
scllol Aus ala 82

AAA AR ugld

UBA ol ugld

AR odle ugld

WU ESCo] £GIRYScl
uRaual

45

Which is the purpose of cooling of
transformer?

To improve the efficiency

To protect the winding
from damage

To regulate the voltage

To increase th life of
tansformer oil

2l 1Rt gclloL sRallall
&q sl B?

stlat il Yl
gl

oS ofslatell
oAl 1R

Al RRYALS sl

S slR AU S|
ASS dulRal

46

Which method of cooling the fans are
used to blow air on the surface of
transformer?

Forced oil and water
cooled

Air blast method

Oil and water cooled
method

Qil blast method

scllolell 58 AaUsH

2let sl uwdl uz sclal
dsal I Unidlell Gualal
aA B?

EWIRYSA AT
ual wll gellow

AR ocke ugld

AUt wal wllell 69
s2cllo{l ugl@

B oclRe Ugld

47

Which is the cause for deterioration of
transformer oil?

Due to over load

Insufficient cooling

Long time use

Due to atmosphere air
come into contact with oil

2l SL1R S woLsclla]
s1RQL 53 87

UlcR Alsal 5120

Uyl 655

clott uxa Yol Gualal

clctaRelell salt
Aol Ausul
vlalelletl s1RAl




Name of the Trade - Wireman 4" Sem- NSQF - Module 2 - Generation and transmission

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
Which is conventional power generation? Thermal Solar Biogas Wind energy WYL dlor Beuleat saul 82 e AR RTERE Uclet Gl A 1
Which fuel is used to generate heat energy in Coal Wood Biogas Kerosine A waR wAoHl aRHl Gl slcll Alsg GlLRARL PREIE] A 1
thermal power station? olotlalall HI2 5L HAdRlel
Gualal A B?
Which is the name of part marked as 'x' of hydro Surge tank Valve house Penstock Reservoir a3l 8Ales Wellozall ‘X' 3% w0 eisl ale 8lBY Yolrels EEEN B 1
electric plant? RRBA UAA AdLo] olti 53] B?
8
:
Which is the name of part marked as 'x'? Nozzle Pelton wheel Operating head Spear X 3% Rllad UAd edts] otn AlBA Vel gl UL &5 AR A 1
53 87
- ——————-—- &
,,,,,,,,,,,,,,,,,,,,,,,,,,, :
:
Which is the name of power station? Hydro power station | Thermal power Nuclear power Disel power station [UlclR ¥ 2lotle] ol 53 87 Syl UlaR Aot | e WaR et | AU WaAR Sl UlaR R2et | A 1
station station R3al

WMN4ZL105




6 [What is the name of part that increases the Governing system Cooling system Fuel system Super charger  [@Ole] ol 9 ® ¥ SIBA ULlAR oaleldl Rren scllot Ren eud [ JUR AR
pressure of air supplied to engine to increase power Wloe M S el HIZ
in diesel power plant? AleBotal YU s el el
scllotl EGIRML AR 52 B?
7 |Which device further raises the temperature of Boiler Super heater Economiser Air preheater  [A{EA WaR RAAML dRLA9] B8R YUr eler S5l IS B AR Jlleer
steam in thermal power station? AlUHLel cllRal HIZ 53 Ultot
sIH 52 B?
8 |What is full form of PWR in nuclear power plants? | Pressurized water | Pressurized water | Pressurized water | Pressurized water |[oj(5Q2R UleR \elleelMl PWR YUATRAS cler YARAS RS dler YARASRS cler YAASBS dle?
reactor resource restore receiver of Yol e3u g 82 AAs2R A AWwR AR
9 [Which material is used to made moderator in Graphite Uranium Nickel Copper RJ[sAAR [RuseHl REGHE YAur Asa SUR
nuclear reactor? HrR(HISR2R) Glatlalall HI2
56 AMloll GUAL A B?
10 |{How sun heat energy is converted into electrical By solar cells By reflecting the Thermo couple | By radiation method [5cll ld 32l oMl Gosl [Agjct AR sl RUAR Aysiaa all sud ugld | RASA2Uet ugld si:1
energy? sunlight method Gosl i 3UldRd aa ®? AR ylQl@d sdla
11 |Which converts rotor rotation into high speed and Turbine controller ISU grid Gear box Chopper Yclal Gl GeuleatHl slaL Q2R 2olldat s2lcAR ISU ofls PlaR olls AUR
rotate the electrical generator in wind power A22otal 618 ALsHL ¥4 & e
generation? Qg otReR ¥A B2
12 [Which is the voltagte range of secondary 66KV 33KV 11KV 415V As053| SlAglofotoll e 66KV 33KV 11KV 415V
distribution? % 58 B?
13 [Which type of transmission is adopted for AC power | Single phase two | Two phase three | Three phase three | Three phase four [l WeR glolHaet Hie sat | RIA 32 g R 253 Yl arr Il 53 Yl ar Il 32 9R awlaR
transmission? wire wire wire wire YUslRall ;l«ﬂ[ﬁ%td B UailaaLHl
wd ©?
14 |What is the name of conductor used in over head ACSR Iron Brass Copper UlAR &5 ABAML AUl ACSR A Mo PSS
lines? §55230] ollH 9 B?
15 |Which is the important property of OH line supports?| High mechanical Withstand Heavy High conductivity | Low specific gravity [OH Glletoll qULeoll HeelYRl G AAs sl | @R dxelall AHaA G alesdll o1l (Al et
strength weight ot sl 82 §2
16 |Which is the span length of steel tower? 40-50 meter 50-80 meter 60-100 meter 100-300 meter  [2ld alaRall RUlat cele s2cl 40-50 Hle? 50-80 Hle? 60-100 Hle? 100-300 Hle?
8?
17 |Which height the stay insulators are to be fixed? Not below 1 m from | Not below 1.5m | Not below 2 m from | Not below 3 meters [ 823jJA2R 32cll GUSU (s | ool 1 {leRell [erllotell 1.5 leRell | aallotell 2 Hleell | allotedl 3 H{leRell
ground from ground ground from ground sclloll 8l B? ol o8l o1 o8l o{lA o8l o{lA gl




18 [Which is the name of insulator? Suspension insulator|  Stay insulator Shackle insulator Postinsulator  [8ejA2R0] ollH 9 B? U 2ol BoRfARR X BofA2R AsH BoyAaR Ul 8eA2R
@//\
T
p—x
I I
e rH ¢ )
= = I [
] i [
U
H .
<z ]
:
19 |Which is the name of insulator? Pin insulator Stay insulator Shackle insulator Disc insulator  |8ejA230] ol 9 B? et SorjA2R R BoJARR ASH BofA2R (S5 BoyARR
§
3
H
20 |Which is the clearance between live conductors in 20 cm 30cm 40 cm 50 cm OH.LT. #i Gell (eaudl ®ead 20 AL 30 AL 40 A.HL 50 A.HL.
OH.LT. vertical configuration? sl aRA decll wouell 1ol
B.?
21 |What is the purpose of applying grease in binded Avoid sparking Avoid oxdiation Avoid loose Fill the gap between |OH Al8aHl WD S ul$oL el AU(AS At 2Ll | {3 Sals2let 2lnal | wRRAl AR
aluminium joints in OH lines? connection turns AR A Al ofld AR eRal
aousalell &q 9 8?2
22 |What is minimum clearance between earth and live 10 cm 15 cm 25 cm 30 cm LT cteSet Glell atlsaglal yeell 10 ML 15 AL 25 AL 30 AL
conductor in LT vertical configuration? U ALY 55522 AR oot
o3l ol 1ol g B2
23 |Which is the conductivity of aluminium compared to 30% 40% 50% 60% slURell Aottt AR M Aol 30% 40% 50% 60%
copper? aAlgsdl s2cdl ®?
24 [Which is the height of bus-bar assembly to be 1m 1.5m 2m 2.75m o lot WRl Fedl GUES UR ol- 1m 1.5m 2m 2.75m
installed from ground? ol Aol U sl
uA B?
25 |What is the name of material used for bus bar? Brass High speed steel Bronze Aluminium A R M2 auRldl umoflef I ale als wlet oflo% AR AR
ollH g B?
26 |Which is non conventional power generation? Wind Nuclear Thermal Hydro ollet uRURLALA dlor Beuteat Uclet RJ[sAAR pRtel FER

sl 87




27 |Which is the suitable place for constrution of hydro Hill area Seashore Islands Deserts BlBQl WAR Wellodall GlltsiH YLsl (AR eRa [SetlA FIRVEN 0L
power plant? U2 585 ol AU B?
28 |Which is the main disadvantage of hydro power High capital cost Complicated High maintenance Requires long  [8l&gl UAR Welozall Hud G Y3l Wil A2 ellusiH G sl WA | cloll a3uilctall
plant? construction cost starting time AR s B? UH2A 33 B
29 |Which is the advantage of diesel power plant over More efficient Less noise Low maintenance | High unit capacity [A¥A Wclleg 8l Sl ULlaR ay slle el walles Y sl WA | G AsH el
thermal plant? cost Wlogall SLAEL 9 B?
30 [Which device heats the feed water on its way to Super heater Economiser Air preheater Condenser A UldR Wlloe Ml $C Jur eler B5lallHES B AR Jllger $adoR
boiler by deriving heat from the flue gases in arguiedl oRrHl Andla
thermal power plant? AR clloll HHL §ls
dl2RA $3Y GUSWL JIRH §2 B?
31 |Which part convert potential energy into kinetic Sluices Embankments Turbines Barrage ALSSE ULCR WelloaHl S0l @LoL stuRlR sl ULOUL(RAHA S N oR) 2oll8ot ULSA(ARSY)
energy in tidal power plant? RAA G of oUlAGes Ui
3ULARA 52 B?
32 [Which is the disadvantage of AC electric power Skin effect More voltage Required More line loss [l 8Algs WaR glotHelolo] Blo Sse dy dlx duue | dlee U AU / ay el Al
tranmission? fluctuation transformer for ARl 53 8?7 SIBet HI2 2l SR
voltage step %351
up/down
33 [Which is the advantage of DC electric power Required only two | No communication No need of High voltage SR sQles ulaR glotMatotell $5cl A cllgs G dl@wa 5100 | 2leduSRell 3R 8l clleeos
transmission? conductors problem due to high transformer transmission $lAEL 9 B? UlcRAUs O S cllctAlctell atell 2letRalet
voltae AR el
34 |Which is the voltage range transmitted to load 11KV 33KV 66KV 132KV Ylazl 2l ettt dls 11KV 33KV 66KV 132KV
center in primary transmission? AceHL 58 Ry 2w &l B?
35 |Which is the voltage range transmitted in secondary 11 KV 11.5 KV 12 KV 66 KV A5053| 2lotM et ReHHl 58 11 KV 11.5 KV 12 KV 66 KV
transmission system? aAleeos e gl B?
36 |Which is the property of conducting materials used |High tensile strength | High specific gravity [  High dielectric Easy available in  |[OH &l&el HI2 cdURLcl $o552[01 Gl alset G (Al Yol EINERICE WRHL ARA
for OH lines? strength the market HRaucel ot sl 82 stc Guasu &
37 [How many disc of suspension insulators are to be 2 3 4 6 66KV al5ol cdlees HI2 UWo2lol 2 3 4 6
connected in series for a 66KV working voltage? BorjAerell decll (35 Allosul
sclell 8?
38 [Which insulator is used for terminating corner poles? Pin insulator Shackle insulators Stay insulator Cap and pin type  [5lolR Wctell eMHa8lol 1 sau [t 8eA2R ASCE BoJA2R X BofA2R 35U Aos [Uat

insulator

BorjAeell GulloL Ul B?

YslRe] BeYARR




39 [Which is the size of binding wires used to hind Not less than Not less than Not less than 2sq Not less than OH GEetHl BeA2R tlltiell 1sqg.mm.dl ASl [ 1.5 sg.mm L AL [2 sg.mm sl 2L | 2.55q.mm Al 4168
insulator in OH lines? 1sg.mm 1.5sq.mm .mm 2.5sg.mm H(2all wleSaslol cllauRell USRS 18l at8l at8l a8l
secll ala B2
40 [Which is the minimum clearnace between live wires 10 cm 25 cm 30 cm 45 cm $5522a(l OH WLSL dNs Rl 10 cm 25 cm 30 cm 45 cm

on either side of a support in OH horizontal
configuration of conductors?

AWl vial vley e AR
AR oYotcH [sAAAU 53 B?




Name of the Trade - Wireman 4" Sem- NSQF - Module 3 - Distribution and protection

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1 |Which distribution system is Single phase two wire | Three phase three wire | Two phase Two wire | Single Phase one wire [t¢] Usll Aol GUS Hie Rl $2 ¢ AR fl 53 ol aaR g 5% g dlR ROIA 52 cdot ct2R | A 1
used for domestic light and 56 slRglogjalst Rreuall
appliances? Guallol Ul B?
2 |What is a interconnected Distributor gets supply | Distributor gets supply | Distributor gets supply | Distributor gets supply [sollost 218 slstdcd SRgoyeA s (SRgojera & BRRuy2RA SRgoera A sl | D 1
distribution system? from one source from two locations | direct from substation | from more thantwo |$lglojalet R 9 &2 AU At 1A [RaaRdl e 1A B Ast el flal ay oAl e
locations A HA © HA B
3 |What is service main? the cable carrying The cable carrying The cable carrying The cable carrying [ Aot 9 ©? (SRgoyeel ouesstl HleRdl cls Yl a3l Rt el 2lotsiRl ARk &5 | A 1
supply from distributor | supply from meter to | supply from generating supply from Hle2 Yl usluscl A sl 3eA | 2SR Yl yadl et Yl yasl cget
to meter of consumer load station to transformer | transformer to over S0l agal sl 30lcd $cll Soicd
head line
4 |What is feeder? The line carrying the cable carrying The cable carrying the cable carrying  [sls? Aead ¢j? ogatA2ol 2 2tatel 2lot Rl Al &5 HleRdl cdls Yl (SRpuyedl aulesall | A 1
supply from generating supply from supply from meter to | supply from distributor BRpoye: yull Al Yl Yyadl de | Al sl 3ud Hle? Yl usluscl
station to distributors transformer to over load to meter of consumer Yradl dget scll Al SUA L12lct
head lines CULSet
5 |What is distributor? The conductors The conductors The conductors The conductors (SkgojeR g B2 2ot 2let Aol Slglojalel cltetal Ud™ Aol YRael UleR glodgldRa C 1
providing supply to providing supply to providing supply to providing supply to a Yasl YA wsdl [ Yasl YA usdl dies YA WSl aLes Yasl YA ulsdl s
transmission lines. distribution line service main power transformer ales.
6 |Where steel towers are used? Transmission lines  |primary distribution lines| Secondary distribution | For telephone lines [Eld alad sl cuRa 82 2lodlMalet Alsall yla3l slrgleyjatet As053| Slrgloyelet ASot et 12 A 2
lines AlSaU AlSaU
7 |Which is used to carry higher Feeder Distributor Service main Service wire Al Al dRell glodlalet Hie sls? (SRguye? U™ At U™ AR A 2
voltage for long distance 8le R cgat scll HI2
transmission? llell GUAL0L ALA B?
8 [Which conductor is used in Copper conductor Aluminium Conductor ACSR Conductor Steel Conductor  [3lleR &S ABoLHL 52l SlUR $5522 ARJMAAH 552 ACSR §5522 RXlAd §552R C 1
over head lines? §s52R0ll GUALL AR B?
9 [What is distribution system? | Supply from substation |Supply from generating | Generation of power in |Supply from generating [Slxgloj2let ReH 9 82 Aol ouesa ooR(3ol Al [osaRABoL R AU WLeR oaR(301 2l A 1
to consumer station to substation a generating station. | station to transmission el AR Aot A2 Geaur sql. 2lot@ 2ot clget ejtﬂ
line LA
10 [How the size of feeder is On the basis of line | On the Basis of current | On the basis of length | On the basis of height [$ls2ell &R scll A atssl ALl cleeogall AlBetoll s2all WUR |AlSetoll dellSall MUR| Algatlell GALSAL HMUR| B 1

decided?

voltage

of the line

of line

of line

sclHL wd B?

LU

R




11 |Where underground open areas In forests Highly populated area Hill areas WS IUGBos Slglerjalet vl (AR ofALHL Yol cidl tRiadl ULl [AratRL
distribution system is RReHa sl Wtlled AUH RERTE
preferred? A B?

12 [What is the advantage of High installation cost | Difficult to trace the Lower life span Good appearance |52 UGS SlRglu}elet ole SRlAet (Sud | wiedl el e ysa ALY AU ARL 2wl
underground distribution faults Rreuoll g SlAEL B?
system?

13 |Which is a part of over head Lead sheath Stay wire Armouring Cable trench WldR &S Aldatell s UL dls aaRel R dlaAR iRt Jod we
line? s 82

14 [Which is a line protecting Bus bar Isolating switch Insulator Circuit Breaker Algat A (Ul s2lol) Gus:WaL OlRL GAR USAALL RAu REDICEE Al5e o182

device?

53 87

15

Which type of isolater consists
of four arms and at the end of
arm silver plated copper
contacts are fixed?

Single brake isolater

Double brake isolater

Pantograph isolater

Bus side isolater

sl USRoll AUSAUARHL AR
sladl 8lal ® WA sledlell ¥
Y Elell Aloeonl SlUR Sleese
(s sdcll sl B2

R ols AsAARR

SUA Qs WBsUARR

Vel s WSAUARR

oY AUSS ABAARR

16 |Which motor is fitted with Single Phase motors DC shunt motor DC series motor Three phase motors |sll Hleul Rloa 3oL RA Rl %2 Hled SI{L 9le HeR NERIEISENEE ol %3 Hled
single phasing relay? AdUS ML A B?
17 |Which is the name of relay Earth fault relay Inverse time relay Under voltage relay Differential relay  [2¢ll aet2a uic(Zs v lell g s RA 8ocl 28U RA S Al RA SlgRelud RA

used to protect turbo
generators from internal fault?

csutqcu HRell R} olti 53
?

18

Which type of distribution is
used in residential area?

Single phase two wire

Three phase three wire

Two phase Two wire

Three phase four wire

20Us [AcAlRHL 52U YslRell
Slgloalotall GulloL & 82

Rl %2 ¢ AR

ofl 58 ol R

2 52 AR

ofl ¥ 312 claR

19

Which distribution system is
energised by more than two
generating station?

Radial system

Ring main system

inter connected system

DC system

s2ll slglogjatet ReHa A
5l Ay %ol Rasl gl
AL AUUCUHL A B?

Asacd Rex

oL At RAeH

B2 SalseS [AeH

Sl Rlrent

20

Which supply can provide
supply for 3 phase as well as
single phase load?

Single phase two wire

Two phase two wire

Three phase three wire

Three phase four wire

s2ll Al 3 52 Axy Rl
32 Als M2 A2 YA wsl
A% B2

Rt $3 ¢ R

g 5% g AR

gl 53 Yl R

Il 33 sl alaR




Name of the Trade - Wireman 4" Sem- NSQF - Module 4 - Substation and equipment

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans |Level
1 [Which is a circuit breaker? Power factor Protect from under Controlling device Protect from over [($2 ds2 s B7? UleR 522 U el salclol Sausu R dlewdl C 1
improvement device voltage voltage gryaNee (Bausa YRAd s YA 52U
2 [Which is the full form of VCB? Variable circuit Voltage control vacuum circuit Vacuum control  [VCBe] Y3 ol 9] 87? ARAuA dlse 48R | dlew slet As dsyH lse as? AsyH A WS C 1
breaker breaker breaker breaker

3 |Which condition circuit breaker Low current Over current Under voltage Over voltage 56 sled Ml USe A }URe A Al s22 UlaR 52 oS AR BlR Al B 2
operates? 8?

4 |Which material is used for insulating Glass or ceramic Iron Stainless steel Ebonite AsyH Us2 As2ell ollal olSlell AU AU RRMs cluls oAU xld Aollollse A 1
of outer body of vacuum circuit BorA2ot U2 58 AH LU GulloL
breaker? A B?

5 |Which circuit breaker is used in rural OCB SFe vacuum circuit ACB aHlet [AdrcrRul s Alse sl OCB SFq AsyH lse als? ACB [® 1
area? breaker GuloL wl B?

6 |Which is circuit breaker is best suited vacuum circuit air blast circuit SFe oil circuit breaker  [$UR2R dls RARL 1 53 Ulse AsyH Alse ds? | AR sl Use s SFe WS Alse As? A 1
for capacitor bank switching? breaker breaker As2 Al ay QoA B?

7 |Which part of the circuit breaker is Trip coil Operating rod Suppoting champer |  Circuit breaking  [[52 dlsall HiE (52 sl s20 2l slse wluR(2aL A AW AR A2 alsol AR A 2
helpful in breaking the circuit? champer GO HEEIUR B?

8 [What is the full form of ACB? Automatic circuit | Acutal circuit breaker | Alloy circuit breaker |  Air circuit breaker [ACBe] Y3 olid g 87? ARAELs Uls2 s | Asuict A5 as | Al uls2 as AR Us2 s D 1

breaker

9 |What is the medium of arc quenching oil water Nitrogen Air AR Us2 AsUL U 5=f(AdLo] UTA wiell alleeget sall D 1
in an air circuit breaker? HIRAM 9 87

10 [How circuit breakers arc rated? Ampere Voltage Megawatt MVA Al5e asAall a5 5l A Re INEEVIETES aleos noudle MVA D 1

gAML A B?

11 [Which type of transformer, the Idel transformer Step down Step up transformer Instrument §22 2loUSHR Sl USR] glotslHR UBSA oUSHR | RU SIGet JerSHR | U AU glASR | Borgho2 glodslR | D 1

current transformer comes under? transformer transformer 8?




12 |What is the secondary voltage of PT? 440V 11000 V 660 V 110 V PT oll As053| clee 9 8? 440 V 11000 V 660 V 110V
13 |What current the secondary of a CT 2 Amp 3 Amp 4 Amp 5 Amp CToll AsoS3all Ul F2cl 532 HI 2 Amp 3 Amp 4 Amp 5 Amp
is designed? scllHl WA B?
14 |What action is required before Remove the earth of | short the secondary opened the Switch OFF total ~ [CT AU %SlAcU AH[2RA [Susalse | CToll uleol g2 53 [CToll A5 2 53| CToll Asos3L WS | 2lec A ol 53U

disconnecting the ammeter CT of CT secondary side of CT supply $cll Udcll 58 (3l sl laes Wl Uet 52
connected with CT? 87
15 [Which is the use of lighting arrester Protect the For short circuit For open circuit For leakage HT clgetdl cs@ol A4l 2l iAol uedl [l AlSedl Retal w2 | ust Alsedl a1t (A% YR Hie
in HT line? transformers from protection protection protection Guallal sA B? YA sl ue
surge
16 |what is the name of device used for Air circuit breaker Oil circuit breaker Lightning arrester Isolator AR &5 el dlooll A &L AR UBe Qs A Use As algelalol AR wBsAARR

protection against lightning in over
head line?

HIE AURLAL GUSRWQLe] ollH g B?

17

Which is the function of a lightning

Protection from over

Protection from

Protection from lower

Protection from over

Algelodl AR 512l 53 ©?

ulaR g2l el

A% s2ell e

Al s:2¢l Ral

dldllal s10 2llaR

arrester? current leakage current current voltage due to Azl 8.
lightning
18 |Which gas is used as insulator in Nitrogen Oxygen Hydrogen SFs s2AL JlRlell BU0dL AlSe sl allsglogel Ul slogat FERCE SFq

circuit breaker?

B2 3} wau 87

19

Which circuit breaker has the lowest
voltage range?

Air-break circuit
breaker

Oil circuit breaker

Vacuum circuit
breaker

Sk circuit breaker

sl Alse sl AUl Wl e
0% 87

AR-0ls Ulse a8

B Ulse 0ls

AsyH ulse s

SF6 Ulse o8

20

Which is the purpose of circuit

To monitor over

Protection and control

Protection and

Monitor under voltage

Ul5e asell &q 9 8?2

UlelR AR

&Ll A sl

aRHlel et Aal

WS Al

breaker? voltage monitor heat IS EERCELTL IS EERCELT AAeR sc
21 |Which is a part of oil circuit breaker? Insulating vessel Arc shield Arc splitters Moving Contact  [&d US2 sl alol s 82 lales AAA A5 [Rles uls Red y(doL sleese
22 |What is the main purpose of oil in oil | Provide insulation Quenching arc Providing cooling for | Act as lubrication [RABA 452 QML AUSEAl HuA BorjA2lol YELlal EEIEEEDE sloeseoll $AloL Hie | gullsaet 3l sin
circuit breaker? contacts &d 9 82 sl RAccAl)HR 82

23

What is the full name of SFg circuit
breaker?

soda flouride circuit
breaker

sulphur hexaflouride
circuit breaker

sodium flouride
circuit breaker

sodium bicarbonate
circuit breaker

SF6 u[52 4829 Y3 olli g B?

ALSL SARWES Ulse
as

AUCER SSULSARLSS
uSe Qs

ASAH SARLES
USe As?

Asan oiasiollale
uSe As?

24

What is the medium of arc quenching
in an oil circuit breaker ?

Oil

Water

Nitrogen

Air

SA UlEe AsHL Asell slFdL
RAAA)HIZe] HItAH g B?

WA

well

allsglogel

sl




25 [Why aluminium is used as busbar Low density Low cost Easy to fabrication Low resistance  |AcMclaHoll GUAL GAGUR Al edotcll AL [5UA olotlalellHl UM UL A cRAY
material? Al A31F 3w B?

26 [Which metal is used as contacts in Brass Copper Silver Tungsten AcR et AL Sloese d3F ¢ RN slUR Y€l 2oR2al
substation switches? Ulgell GUalloL A 82

27 |What is indoor sub-station? Sub-station Sub-station Pole mounted sub- | The substation laid [8lS1R A 2ot 9 B? RRREETEE (AA(cEotell 2ieR UGHAL UR J6AA | weSR UGBeS dN6AA

constructed outside | constructed inside station under gound JN6AA UG WAt | JN6AA UG R2et AL R2Ual Ao Rt
the building the building

28 |Which material is used for making Silver Steel Copper Gold Bo1S1R AGRAAHL G- IR ¢allelal el Xlad slUR U]
bus bars in indoor substation? HER2 585 WMl GuAloL A B?

29 [What is the purpose of Indoor sub- To step up voltage | To step down the To increase the Toregulate the  [801SIR UoR2Aloll & 9 B? aAlees dulell dleees dalsal 2l SRl alsel Alea [
station? voltage power of transformer voltage aulall 1 scal

30 |How many types of outdoor sub- One Two Three Four UB2SIR AW Al Sl YslRell 87 s o AL AR
station?

31 |How the busbar is rated? Voltage Current and voltage Watt KVA HRUGRe] (2oL WHL sl B2 adlee $32 ol Al ale KVA

32 |Why stones are provided in sub- To avoid the growing | To support the poles To support the To avoid slippery  [R16l 2ol UcRL SH AU AHL olsall ([Astell UlecAla 28l 2lou sl esl AURRN 2loal Hie
stations? of plants and for transformers uad 87 olAall Ua yluel Hi vUell HE2

insulation Borf Aol HIZ

33 |How many types of outdoor sub- One Two Three Four UG2SIR UKol B2Cl USRall 82 Us ol T AR
station?

34 [What is function of outdoor sub- Change AC supply | Change DC supply | High voltage supply Low voltage is UB2SIR A 3Uotq] 512 9 B? AR qctiaa Sl | sl rctiaad AC [ el dle@e Aol | dl dl@% ALAlal

station?

into DC supply

into AC supply

step down into low
voltage supply

stepped up into high
voltage

AAAHL HEELe]

AAAHL HECClle]

Gl A% AELRLH
GlECClle]

8l cllceos ALCAHL
olEcialls]

35 |Which of those circuit breaker is Alir blast circuit SFe circuit breaker | Minimum oil circuit  [Bulk oil circuit breaker|s3] A($e 52 ARG &lE ool AR oclle Alse s | SF6 use s | Hlollin wect ulse [oles uod ulse g
sufficient for extra high tension line? breaker breaker At M2 YR 87 LR
36 [How many poles used in pole Three Six Two Eight A UR HIGe2 UAA AB2SIR AUl AL D) 2l L6

mounted outdoor sub-station?

RAHL Becll WA (AL auRA
82




37 |Which system pole mounted Primary distribution Secondary Primary transmission Secondary s ReH HIE WA UR B2 UAA | WAHIL Slglorjatet | Asos3l Slaglorjatet | w3l glertlHalet | Asos3 glertMatet
substations are used? distribution transmission AsR2otoll GUADL Ul B?
38 [Which is the name of substation Converting substation| Switching substation | Secondary substation| Stepup substation [ictil [55cell slecal HIZ cURldl | SocR3DL AR elet | [Alo1 A 2let A5e53 ARt RUAMU ol el

used to change the supply
frequency?

U0 Uoto] Ul 53 B?




Name of the Trade - WIREMAN 4" sem Module 5 : UG CABLE

# Question OPT A OPT B OPTC OPTD Question OPT A OPTB OPTC OPTD Ans |Level

1 |Which is the outer layer of an under ground Armour Lead sheath Serving Bedding USSR UGBS S0Ics] GUEL R 53 EATRLES as ollu Al aSat C 1
cable? 82

2 |Which material is used for metallic sheathing in Copper Aluminium Nichrome Lead US UGS soldHl Nallds ollu SLUR AR A alleS sl dls D 1
underground cable? 2 58 AHIAlell Gullol el B?

3 |Which material is used for armouring of Galvanised steel Copper Cast iron CRGO steel  [152 AUGBoS Foicatl 3oL UL Aol ns Bld SIUR 5122 Wl2Aal urpul Zla | A 1
underground cable? 565 AHIloll GuAloL Ul B?

4 [Which conductor material is used for under ACSR Aluminium Steel Nichrome SR UGS Sulcd He 58 ales N EVIENEETTEN ARMAUH Xla L5 B 1
ground cable? Aol GuoL alx B?

5 |What is the function of armouring in under To avoid mechanical |To prevent entry of | To protect the To provide U5 UGS SoAHL WHRIL] g Suctal AllAs 8ot A yaaldl Nalds oflu o 501ctol A 2
ground cable? injury to cable moisture metallic sheath | flexibility to cable [st2l &2 of AlA A M2 weslaal M2 oLl HI2 sAellolldll

vl HER

6 [Why stranded conductors are used in To provide flexibility To reduce To provide Toreduce the  [3S2 AYBos SUAMHL SH RadS saallelldlel Y3l [alesdl uetsal Hie| allds alsd Yelel | dxel walsal Hie | A 2

underground cable? conductivity mechanical weight aAlgsell GUAIL sAUML wA B? ulscll 1 sl HI2
strength

7 |Which is the property of insulating materials Hygroscopic High insulation | Low mechanical | High conductivity [2152 alBeS 50 @601 cAuRAAC] sleallzsllUs G BorfAot | AMOL AAS Alslcl G aAlgscll B 1

used in under ground cable? resistance strength 8o A2lol HRRaURN oyt s2ll ERESEN
8

8 |Which type of insulation is also known as Impregnated paper | Varnished cambric | Polyvinyl Chloride Rubber sl YslRall BorfA2lotal BIURAR grfloses AuR allelas 30a1s WAldsuset R0R B 1
empire type? 2l 33 uel AaumaHl wa 82 SARLYS

9 |What is the drawback of rubber insulation used Absorbs moisture Hard Low mechanical | High hygroscopic [e§? GBS BHUAHL 012 o Al A ® A YL aullBs sl | G elsolsllls | A 2
in under ground cable ? strength BorjAalatoll Wil 9 82

10 [What is the advantage of Vulcanised Indian Safe temperature is high|  Hygroscopic Greater High conductivity [clesellesds Sedlaat R0Rall g SIRAEL | UAHA dlUHLet FERERINE] ay Alds st G aAlesll C 2
Rubber ? mechanical 8? aulR B

strength
11 [What is the voltage rating of Super tension up to 1100 V up to 11000 V 22 kV to 33 kV beyond 132 kV  [YUR Soflot S0iCo] Al (ol g 1100 V yHl 11000 V Yyl 22 kv dl 33KV 132 KV.dl GuR [ 1

cables ?

87




12 |What is the voltage rating of Extra super beyond 132 kV up to 11000 V 22 kV to 33 kV upto 1100V [RASRL YUR A% 5uRle] ey 132 KV .l GuR 11000 V Yyl 22 KV dl 33 KV 1100 V ¥l
voltage cables ? Aol 9 B2
13 [Which is the classification of underground Single core cable XLPE cable Low tension cable | Super tension cable[(5? UG5 S0icte] cdllsQL Aol Rlod 51R $ulcd XLPE %06ic Al 2ol 3uct YUR Coflotl S0l

cable according to their insulation system?

BorA2lel RieH UfAR 53 B?

14 |What is the full form of Ml cables ? Metal Insulated cables | Mineral Insulated | Mineral Inserted Metal Inserted  [MI 504Glo] Y3 olld g 87 PEICIREDEN HloRA 8oydes | HloRA Boes PEICIRETER
cables cables cables S0l Solc S0l 5016
15 [How many cores are in a three and half core Three Four Two Five (S WGBS S0 601 AULSL AL AL AR o e
under ground cable ? SIRHL Secl SR dla 87
16 |Which type of cable is used if the operating Belted cables Screened cables H type cable Pressure cables [l AUR(3oL cdlc@ 66 KV sl RN Wlos S0l AU ysRell duat YR SHL
voltage is greater than 66 KV ? aulR 8la dl sal Yslell soicd
aAuRvA 8?
17 [Which are the types of pressure cables ? Oil filled and gas Belted cables and | Htypeand SL | Htype and belted [U2R S0ld sl Uslall slat 87 UWSA (565 al | ARS S0 W A Y5IR Wl AU YsIR Aal
pressure cables screened cables type cables cables A YR ducd Wlos B0l BAAA YslRall ARS S0l
soe

18

Which method of laying involves digging a
trench in the ground and laying cable on a
bedding of sand ?

Laying in ducts

Laying direct in
ground

Laying on racks

solid system of
laying

Solcl ARLL Has ol 58 uglddl

g {lotHi wies Wlgl el Yclloll AR

531 Aol UR 30l WaARCUH]
B ?

Al 8ol S5

AlRdL slaRse et
AULBaS

AL et 25U

Alclls len Auls
ARLL

19 |Which method of cable laying is used inside Direct laying in ground | Laying in ducts |Laying on racksin | solid system of ~ [8MRcl Ul BogRAA WellozAHL AR starse et | ARDL 8ot ssed | AR vllet 25 | ACclls e 28
buildings and indusrial plants? air laying 3ud stiualoll 58 ugldell Guallol AULGes ot AR ARLL
A 8?
20 |What is the name of the cable laying method? Laying into ducts Laying direct in Laying along Laying on racks in [$6c ottuicllell uglde] ot 9 82 ARl 8et 582 | ARIDL staRse Bel AR WAL ARIL wlat R5A
ground building air W GeS (@eslat 8ol AR
5
g
H
21 |What is the advantage of direct laying of Simple and less costly | easy extension of | alteration is easy | Easy fault location [3is? 9UGcs Suict ALl ettriclatl 9 A0 el AL Als of A0 55R AR B AR0L €N ¥ULel
underground cable ? load SLAEL B? wAlo Qa1




22 |Which method of cable laying, The cable in Laying cables along Laying cables  [Laying cables into | Laying cables on [$¢ct sltwcltoll &5 ugldul , 2l AR Sucd AR Soc AR Suc otz | QARIDL SUE et
protected by sand (or) layer of bricks? building direct in grounds ducts racks in air RSt Rl duc YA UADLL [AcSlol [ sta¥se 8ot WGosU ssed 25U Yol R
WB?
23 [What is the full form of 'PILC'? Paper impregrated lead | Paper insulated | Paper input lead Polyvinyl PILC" of Y3 ol 9 B? AuR sloaes UUR BoJALSS UUR Fatye As eI EETGTE
sheathed cable lead sheathed sheathed cable | impregrated lead Qs las docd as llas 3ud llas 3ue g1rloazs As
cables sheathed cable Alas 3uct
24 |What is the name of the U.G. cable joint? Tee joint Straight through Epoxy straight | Tri-furcating end [l A 352 WGBS SGiA ol 2l o2 e g ella AWl wee A2 | glogiselol Wes
sleeve joint joint connection o2 of ollH 9 B ? Ao sa15al
§
3
H
25 [What is maximum voltage grade of U.G. cable Upto 1.1 KV Up to 3.3 KV Upto 11.0 KV Above 11 KV [U.G 5¢ctoll HedH S2cl dleeos S 1.1 5.dl. Yl 3.3 5dl 11.0 .dl. Gur 11 $.dl.
straight sleeve joints can be made? Yl Re2 wlla Ao olattcll Asl
87
26 |What is the use of Tri- furcating end To connect UG cables | To make straight [To make Tee joint | Totestthe UG  [218-53(2ol Aos salsalatoll GUADL UG 3ucdal AB | UG 3uda %12 UG 3uctall 2l UG 3ucal As
connections? to AB switches etc. through joints of of UG cable cable 9 B? A ARl | sl Al clettaal | W2 olotlatall HI2 sl M2
UG cable golse sRall. HEeR
27 |[Which is the property of bituminous compound | Low electrical strengh High electrical  |[High resistance to Low viscosity  [8l2 WJ3[0L U Ao Ml AWl sAlsescd ol sAlsesd e[| A W2 G U9l Raloucll
used for hot pouring cable joint? strengh moisture GUaAMHL Adlcl [AeyMat ol yldsi?
5IUIGoSll Qe sl B?
28 [Which is the common fault likely to occur in Open circuit fault Ground fault Short circuit Leakage fault  [45? UGBS FUAMl Ul AU Ut usle sl UGBS slee e Alse dlss slee
under ground cable? wil 56 B2
29 [Which test is used for locating ground and Open circuit test Short circuit test Loop test Ground test S IUBeS FUAH UGBS WA 2e Ut A2 2@ e ulse 2 qU e UGBS e

short circuit fault in UG cable?

ulBe slee Al W sAL 22 ol
GudL UlA B?

30 |Which type of cable fault will occur, If the Ground fault Open circuit fault | Short circuit fault | Leakage current [, %l &l 55522 cl2A BojA2lst UGS sl Ulua usle slee e Use sl dldes 522 slce
insulation between two conductors is faulty? fault wHlys 8l Al sl UslRetl Suct
slee U2
31 [Which cable fault is caused due to the flow of Ground fault Short circuit fault | Leakage current | Open circuit fault [812 &l Qs 2llul 1l $22 oll Yaieal ALBeS 3lC2 e ulse slee Ay 522 slce AU AS[e sl

current from the core to the lead sheath?

fault

5120 s Jolct glee Ul B?




Name of the Trade - WIREMAN 4th sem Module 6 : SYNCHRONISING OF ALTERNATOR

Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
What is the necessity of syncronising | To increase the voltage To reduce the To meet the Top minimise the  [wc2Ra2da leslaUFALL scuell adlees el Hie [slatHdl datsal Hi2| dlos ol duRial | 522 ol AL s:al C 2
of alternators? efficiency increased power current o33l 9 ©? YRl anal Hi2 2
demand
Which is the condition for paralleling |Frequency must be same| Voltage mustbe |Rating must be same| Phase sequence [& vc2Ra2dotl URAGAHL HlScll (Bsacdl AHlet 8l | e wedL slal RA2oL AMLet &l 50 Rlsclod Al | A 2
of two alternators? different must be different |12 58 2R B? AN S geful adl AsA
What is the condition of incoming Out put voltage of Out put voltage of | Voltage of incoming | Incoming voltage of [Alc2Ra2¥ell Rsall8 scl Hie vc2aleAall G2 vc2aleAall G2 gatsMol gatsol B 2
alternators voltages for synchronising |  alternators must be alternators must be | alternator mustbe | alternator must be [8ats(ol AcerA2 ol ARwo(l 9 Y2 e UL Y2 Al UHlol | ueeRA2Rell AR | UCRoAZReAl AR
of alternators? different same more less AR B? alal HsA alal AgA ay dlal AR Al Slal A
When the three lamps used in dark Frequencies of Machines are Speed of alternators | Out put voltage of [>2UR St& AU UgldHl GUaAoH 1lotloll (55cel Hallodl 2010 33 lezRa2 Aol s vlceoledall WG A 2
lamp method will light and go out machines are different | connected in proper are same alternators are same [Qcllcll AQ AU As AU UG 6l el el © RsclodMi AsAc B UHLet © Y2 Al UHlel B
simultaneously? phase sequence a2 A?
What is the use of dark and bright To start the alternator |To change the speed | For synchronising of To change the St5 Al ollefe QU NAUS oll GUAL | BleeRe2R 23 sRall | wl@Raedell dUld RN AsASeAot wedal | C 1
lamp method? of alternator alternators excitation 982 He GlECL M2 Rsollen sral W2 He
Which instrument is used for parallel Synchroscope Osciloscope Phase sequence | Centre zero ammeter [Uc2Ra2oll URAE MU el HI2 Rslslu B RARsIU 505 Risaot Hle? Aoz ARA A{le: | A 1
operation of alternators? meter sl Ultololl GUAL Ul B?
What is the purpose of synchroscope | To check the voltages Indicate the Indicate the To indicate the exact [vic2Raedetl [Rsletts(ohol Hie Al duAall Hi2 | $5c 59 Rlscloall Al Aol %33 Rsollens sl D 2
for synchronising of alternators? difference in phase | difference in voltage |time for synchronising |RIS1:8\Uall &d 9] &2 dslada Yrddl 12| Rscetl dslad | H2ell Assd AH
sequence only and phase sequence YA HER YAl HER
What basis the load is shared by the |Sharing the load equally Based on their Based on the Sharing the load  [Rsallen dal Ul A uceAA KVA (BR1al tulattl | olal weeRaedell | auell KVA ARl | dHell dleex 2B | C 2

two alternators after synchronised?

irrespective of KVA
ratings

efficiencies of both
alternators

proportion of their
KVA ratings

according to their
voltage ratings

GlRL AS ol 52U AULUR ASUAHL
LA B?

Al (Qott uMLe3Q
AlSal ALUR

Axell stletdtett
LUR

YHIRLetl AUR

UgUR AS AR
sclloll ALUR




Name of the Trade - Wireman 4" Sem- NSQF - Module 7 - Control panel wiring and maintenance

Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans |Level
Which colour is to be powder coated (painted) Light blue Siemens Gray Yellow Dark blue UEBY [AH X SoglAd Uotd UR age od RARL A Acl sts o B 1
on a control panel as per IE rule? Ulas? sl2s (U8ees) scl s2ll
SCR dURAA B?
Which electrical items are to be fitted in a Switches and Bus bar only Safety equipments | Switching, control, [$e2ld ValcHl 58 SAsglsA $5cl A A $5cl (A GlIR $5cl AcH Al RalRUoL, seld, D 2
control panel? indicators only ony safety and Al gle sl wa 82 osl¥eu ALl AAUHA 7
measuring devices H(Uel BUsR0N
Which duty cycle of contactor used for the AC 2 AC 4 DC1 DC 2 AC AU 5o, [Ase ual 8l AC 2 AC 4 DC1 DC 2 B 2
applicatiion of Crane,Lift,and hoist in AC? oll GUAHL Adldl Sloeseell
58 syl AASAH AURA ©?
Which factor is to be considered while Height of panel Width of panel Length of panel Swing area of  [53lct Velctell WRHIGNA [SAL81 Uolctall GLUES Uotctoll usloues Uotctoll dolleS PREE D 1
designing the control panel dimensions? cabinetdoors |8l cdwd sl URUOA tRlletHl gallestlloll Lot
ag AgA? ARl
Which is the amount of additional load to be 25% 50% 75% 100% 5L VoletHl Hl2R M2t 25% 50% 75% 100% A 1
considered before selecting the protective 2e1QUeHs AAU»ell wrieall
accessories for a motor in control panel? $cll USEL tllatM Aclall
AduRletl As ol Avau Fedl B2
What is the name of switch? Change over switch [pole changing switch| ammeter selector | Voltmeter seletor [:cl2e] ollH g B? Qoo AR (U | Wt Aol el | AHleR RAseR [ cdleedle: RAse: | D 1
switch switch cflu R
° BUSBAR
L
Ly 30 415v
50Hz AC
Ly SUPPLY
2
I MI 0-500v
What type of switch unsuitable for portable (or) | Push button switch [pole changing switch|  Mercury switch Limit switch WEold (AUcl) Holsd [SausAx Yol oot A | Wt oot el | HRsYIL 2l dldle flu C 2
mobile devices? U2 sl YslRell RAU wWAox §?
which is used with ammeter to measure high Current Transformer Control Potential Power Transformer [Qolct cllSHL 8LES 522 ol HlUcll 532 2lodsllR 52l glodsld: [Wecallact aleslle] waR altsliR A 1
current in panel board? Transformeer Transformer U Arfler A Asll GuAlol
sl A B?
Which switch is used to control the distance or Mercury switch Limit switch Push button switch |  Selector switch | H2{let oll SlEFUQL eloL AU uel | H5Y3L [u cdldle Yl ol2et (2 RaAse: B 2

angles of movement of any machine part or
axis or object?

Wl UELall, (utclletl)aldstl
U AR AU WRUA S scl HL2
565 | Aall GUA0L ALA ©?




10 [What is the name of accessory used in control Indication Lamp Timer Rectifier Push button switch [$2lct WetctHl GUAotHL Aatdl 4L Badl5alel XU 2LSUR 25315212 Yal ol2et A
panel? AAUI30] oM g B?
11 |Which accessory is used in control panel to Race way DIN rail Gromet PVC channel  [52lct Qolcddl AHlell, sl se? AU AR Slot e MbE A Aot
mount MCB,Contactor etc.without using screw? AR el Gualal sal Rcua
HGo2 sall HI2 58 AAULell
GUaoL sRaUHl AUA B?
12 |What is the use of wire ferrule in control panel Harnessing the Insulating the cable |Easy identificaton of | To protect the wire [$glct Uole cllRIMHL clR 501ctoll GUAL  [S6A ol BoyAclol S0t WoS o alaRa arRHlell
wiring? cable cable end from heat $3¢toll GuAlaL g B? scll sl HIR ARl Baveal oludal HER2
He
13 |What is the name of part marked as 'X' in Button Head Thimble Pawl alSAlet SUE 2BHL X 3% oleal &S [DfYNe] ud
nylone cable tie? RGBA ©Ac edle] it 9 B?
14 |Which accessory is used to insulate and hold Grommet PVC channel Wire clips Wire sleeves  [50GRIa 8oJ@AeS A UsSL AWl £l YAl Ao al2R AWt ataR Wl
the cables, if they pass through punched or M2 sl UslASSN GUaAlol sRalMl
drilled hole in control panel? A B, %l A 52 Aot el
vl (365 slamiall v a2
15 |Which is the minimum spaceing between 50 mm 100mm 60 mm 75 mm ol [ReH dlee 415 V &l dll 50 {l{l 100 H{l{l 60 I 75 {ll
components and raceways in panel board if VoA ASHL 53 Wotod ol 2UAD
system voltage is 415V? AR oYotcdH AR eq &l
B A2
16 |Which colour of earth wire is used in control Red Yellow Blue Greenyellow  [52lct Uotct ol A SR Aal dollale Aled Jlau atedl dlal Jlan
panel to earth door and cabinet? 2 A cl2AR sl 2L oll quRAA
8 ?
17 |Which test is to be done regulary in panel board Main power Insulation MCB connection |Filter and cooling fan| Qelct (ML WUl WA s2A 22 | Al WA Sl s BorjAalol AHAloll sAsaet | [seeR ua gcllol
with priority? contacts condition |resistance and earth QAR scUHl WA B ? ENEITS Mo Wal WY %ol
continuity CEAEIE




18 [Which is the advantage of perodical Reduces power cost|  Assured over Ensure safety to the | Helps continuos  |$2ld Qatctetl Jl[R2A051sc lor Wl deld ® | AlaR cdlSal GuR Hlot el R ETR)
maintenance of control panel? loading machine and operation Aoeolodoll SLAEL 9 B? w3l Ul ylureda BlURAAHL HEE
operators AAHAA vl
19 |Which type of fault will occur if the insulation of Earth fault Open circuit Short circuit High value series  [%1 50lGtloll BoA2lolal ofsulol wud slee AUt A5 e Alse ale acy ARl
cable is damaged? resistance fault A2l ® Al s2ll UslRall Slee e Slee
Geaad ?
20 |Which is the purpose of third terminal in To measure more | To extend the range | To use as a earth To get accurate  [8o3jA2lol eRHL Al 2(Hetctoll iy HLALL HIUA % dulRell ud 2w d3l% AUgye sl
insulation tester? quantity tester reading &dq s 82 atuRdl Hie Anaal 12
21 |What is the name of instrument used to find out Earth tester Ohm meter Megger Wheatstone bridge [$2lct UatdHl vluat U5e slee ue 2w ylen HleR IR cglrelat ol
open circuit fault in control panel? lucll HI2 sl Aldotoll GUAL
AA B?
22 [Why it is recommended to run power and For easy To Avoid transfer of | To avoid leakage |To avoid short circuit|$2lAd VaddMl WaR Al $2c W o He | wer soadl A3 alaal He | e ulse alncl
control circuit cables seperatly in control panel? Identificaton heat from power UlBe Juct wcotedll elstaal ofl $2A St Yl ue
cable to control GLALHEL 2L M2 scLHl 2w B? 8le 2lous? o
cable alaall M2
23 |What is the name of fault if line is break in Open circuit Short circuit Earth fault Earth leakage [ WlalR S0ldHl cllet ols A Ut Al e A2 wd slee e (A¥ey
power cable? Al Ul Qe of sH g B ?
24 |Which is the minimum value of insulation 10 MQ 100 MQ 10 kQ 1MQ sAlsesc SorelA2lettl 503 &l wdl 10 MQ 100 MQ 10 kQ 1 MQ
resistance between phase to earth terminal in 2ot C_{bﬂcil By Aot .
electrical installation? ABre oo} Yot Yeu b2 B?
25 [Which type of fault light will glow dim and motor Open circuit Earth leakage High value series Short circuit BA A BorelAAAHL 5 Ut Alse WY ([Asx ol acy ARl e Alse
runs slowly in a electrical installation? resistnce fault ysiell slee |l clise SlH udl e sl
U R LA LA wed?
26 |What is the function of Residual Current Circuit | Protect from short | Protect from over | Protect from open | Protect from earth [8Q(sg5E orelAlettl R1syue e wlsedl UleR 522 &l lust Ulseell ud ([dsdl
Breaker in electrical Installation? circit current circuit leakage 522 ulBe As20] sl g B? %j%@d $0lo] Y&l sRcle] YREU sRalq Y& sRdlq]
27 |Which helps the maintenance electrician to Trouble shooting Maintenance Machine register Machine 521 Ut GHl AURAA Hofucoll | guct ol sell | Aocotort RAsyct Hellot (w2 Hellot HESoeolot
trouble shoot a fault in control panel in absence flow chart schedule maintenance card [JR&l%3Ml goict gRot sReunl A8 58

of operation manual?

sARQaclal 9 HEE 52 B?




Name of the Trade - Wireman 4" Sem- NSQF - Module 8 - Estimation and costing of wiring

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1 [Which is the full form of NE code? National Energy National National Electricity National NE 8lSo] Y3 olld 9 87? Aot Aol sls a2lelcd aald Al |a2letcd Rrdlanee | C 1
Code Engineering Code Code employment Code Aeollalol  sls sls sls

2 |Which is the name for calculating the Estimation Layout Schedule Specifications of ~ [8QA(sRsA BoelAstall AMIAL ual H3gRl UELY AulB2 oy ALl A 1
cost of material and labour of electrical materials oll (BHcloll gLt sRell M2 oll UAAs of QR A
installation? ollH g B ?

3 [How many power socket outlet are 1 2 3 4 B [l ool WaR Aol UlseHl 1 2 3 4 B 1
permitted in a power sub circuit as per IE Fecll udr Wde uBeAza HyRl 82
rule?

4 |Which term defines that the ratio Depreciation Factor [ Demand Factor Diminishing Factor Diversity Factor [ojotcdd cdlkcllds Alls wal 8ol sl | SYR{Aa 3522 [SHLeS %522 SRR 5522 staAcRF3l $s22 D 1
between minimum actual load to Installed AS ARl Olﬂrtea s¢ 2
load? cuARd 52 8

5 [Which is the number of light and fan 12 10 8 6 WBY [aAH Yool UG clARoHL Aot 12 10 8 6 B| 2
points recommended in a sub circuit as ulFaul GAMYL SEU AEB2 Bl Fot
per IE rule in domestic wiring? Weoeoll Avall decl B2

6 [How much percentage of toal cost is 20% 15% 10% 5% USRI URRAA Rl5 cledt WA «ll 20% 15% 10% 5% D 1
added to estimate as contingencies? $ecll estaldl GRRaML A B?

7 |Which is the recommended power for a 800W 1200W 2000W 3000W WY (A z& ol U clARotHL 800 W 1200W 2000 W 3000W Al 1
lighting sub circuit as per IE rule in @l Aol ulSe HI2 el s¥c
domestic wiring? W 32cl ?

8 |What is the height of horizontal run of 2.5m 3m 2m 1.5m S0ict ofl st (DL HIE B8 sls 2.5l 3l 2l 1.5l A 1
cables as per IE code recommendation? Yol GHAHRL 5 QLU 9 © ?

9 [Which is the location of distribution board | Near to main door | Under stair case | Near to load center In Portico R AlARIL BorelAoHl SRgoY2st [yl ealxtall oS AL &smn AlS AoeRell s WS c| 2
in a domestic wiring installation? Al8of AUt 5 B?

10 [Which is the size of G.I earth conductor NO.16 SWG NO.14 SWG NO.10 SWG NO.8 SWG Y. 8. [ Yool [Eaid A2l Al ol .16 SWG ol6lR .14 SWG oleR 10 SWG ool 8 SWG B | 1
to be connected in third terminal of wall 2(letcMl 5als2 s2cl M2 % S ue
sockets as per IE rule? $5522 ofl Hlolluu e decll sl

R ESA?

11 [Which connections the flexible cords is to | Recessed conduit Pendant lamp Air conditionar Electric Iron 52Ul 5al52lel HI sAlAlAA 518 ol s 5052 WoSoe AU AR §o59lelR sAlses wlalel B 2

be used? wiring Gu2AloL UL B? alaFaL




12 [Which is the minimum clearence must be 150mm 200mm 275mm 300mm 9l Uklloll 69cl Aol Uklell 6ASall <A 150 Il 200 Il 275 H{l{l 300 {l{l
kept between ceiling and plane of blade UL WY B2 AUAR ed 8ld KA 2
of a ceiling fan?
13 [Which type of light fitting should be used | Water proof lighting Direct lighting Spot light Indirect lighting ~ [1G2S12 cus(Eol Hie sl UslRell Alse dler ys cusleol slaRse asl3al A2 Alge Botslarse Alsl2al
for outdoor lighting? (3(o1ell GuoL 5 AR ?
14 |Which type of switch is used,if the 16A single pole | 16A Two way swich 6A SP switch 32A Double pole |, 2l Gus20L oll (3L 16A $cll AUR 16 A Roid We 16 Ag A RAxU 6 AUl 2 |32 A sald W 2l
appliance rating is higher than 16A? switch switch Al Al sl Ysie{l RAUA GuAdL Ul lu
87
15 |Which pump is used to lift water from a | Reciprocating pump |  Rotary pumps centrifugal pump | Submersible pump [Glst cllRAcHil well Waalr e s RAWELL Wy A3 wy Aogleold Uu AHHRHA Uy

deep bore well?

YUoll GUADL scllHl 1A 87

16 |Which is the cross sectional area of Half of phase busbar| 2 times of phase | 1.5 times of phase Same as phase 200 A &Hcldl dy HIZ $2 GHGR ol |32 crelR dl As| $3 oMokl 2 | §23 Rl 1.5 | $2 ook B2l
neutral bus bar compared to phase busbar busbar busbar RUHEN Ul gE HUAR oll 5l RIEEN awl
busbar above 200 A capacity? As2Aolcd AR 32 Sl AEA?

17 |Which factor determines the size of wire Type of wiring Distance from Line voltage Load current LeNOLs ARl Hle AURRAA clARq] cllaARaL v cARall AR ol AR ALl cleeos Als 822

used for industrial wiring?

distance

source

5€ 53 URAUO otssl 52 B?

Usi

18 |Which type of the bus bar system is Horizontal bus Vertical bus system 8 bar system Bus bar trunking  [sall UsRell ¢ ok RleH eldd 8?7 [ &Rlxleect v adlsct o Rien 8 ollR Rlen oA ollR 20591 Rien
illustrated? system system Alen

19 [Which is the distance of saddles to be 60cm 50cm 30cm 15cm Hed 52 ctaARaMl anls (Hadl) 60 AL 50 AL 30 AL 15 AL
fixed from the centre of bends (or) sU@ololl dosell AsCUo] AR d2d &g
couplings in metal circuit wiring? LGN

20 [Which is the alpha numberic rotation for A,B,.C.N X,Y,Z,N U,V,W,N A,B.C.N Al 3 508 ReH U2 AIEsL dletR A2t A,B.C.N X,Y,Z,N U,V,W,N AB.CN

apparatus AC 3 phase system?

GusWL HIZ 53 B?




21 |What is the name of distribution system | Bus bar suspended | Bus bar supported | Vertical mounted Bus duct system [GellolHl cluRldl slellogatet AlreH of Ol GR URUDS ol OlR AWSSs  [cldlsd HIBRs ol | ol 552 [Rien
used in industries? from roof from ground bus bar ol 9 B? S 3% SH UGeS olIR
5
|
H
22 |Which is the minimum size of copper 1 mm?2 1.5 mm? 2.0 mm2 25 mm? ALY ad Yool sluflact arRat 1 mm? 1.5 mm? 2.0 mm?2 2 5 mm?
conductor used for power wiring in UlelR claFol HIZ duRldl sluR
commercial wiring as per IE rule? §055220(l ofottli USRS 56 & ?
23 |Which is the name of position marked as height Horizondal run Vertical run Down drop X 215 Rllad add Woblalet of ot 9 QLU ARlANleed el adlsc et SIBal SlU
o 8?
3 | vERTICALRUN
| i
i i
s ‘ X‘
' l SWITCH POSITION
-
E
' FLOOR LEVEL
77 ; 777777777
24 |Which is the minimum size of PVC 20mm 16mm 19mm 32mm Als ney sl iRl YAAAHL HACL 20 {1 16 {1 19 H{ll 32 {1
conduit used in government installations ARs(3| el Ul slosje]
prescribed by CPWD? oJoltiH SE 53 ©?
25 |What is the first step taken during Take the lay out Purchase Prepare instruments | Purchase cables [slfu@l Us(Rell ctauFol BeelAlel HI2 ook 18l y3lewgl 1 yilelgl 1 w3lEl sud ullawal
preparation of estimating the material accessories for for testing testing 331 AHfloll vielsell daudl et AsAUN» WilEl | Gusal daur s2A
required for any type of wiring installation? testing yax Wl 9 87
26 |Which load is to be connected from stand |  Garden lighting Portico lighting Fire lift and water | Playing area lighting [1€fedt ol [Avgucioll RAIAML 2L Alsal ouSet cgleal WElsl asl3al $12R [Age ual walRlae AlRau
by generator set in the event of failure of pumps RS ol ater Al salse 59 adler W cslEol
mains? R e5A?
27 [Which is the recommended height of Not less than Im | Not less than 1.5m | Not less than 2m | Not less than 2.5m [&8 i eyl sLiRlAA clRFoHD | 1m sl ST o8l [1.5 {l{lell 20T o1&l 2 U sl ST A8l | 2.5 HL Al AT o1&l
energy meter to be installed from floor sAllR Aactell Aol ek decll
level in commercial wiring as per IE rule? GUE UR cducale(l AALHBL B?
28 [Which is to be considered before the Diversity factor Type of wiring Place of wiring Climatic conditions [slldlact ctaulRotl §5522, 8BUHS staa]3l ¥seR ataf3atell YsiR AR | salHiel WRRAAA

selection of conductor, protective devices
and switch gear in commerical wiring?

GUsRWN Aol RAU PlRAR{l urieall
udal 53 URuo sl Aald Bega
2




29 |Where the location of main switch in a Near to load centre | Near to termination | Out side wall of Near main door  [eR¢] claRoL BorelAeletHl Refol cflUe] | s AoRell olws U™ At Hslotoll welRell Hul gl WA
domestic wiring installation? of service line building Wl 83 B? AU o5 et
30 |Which cable is selected for service PVC insulated PVC PILC cable TRS sheathed | Lead alloy sheathed [[d saAs2lot wa wUG2SIR UMABA0t Rl sery@es | RugAcll sua LR A, dls A sheathed
connection and outdoor applications? sheathed HER2 58 30d ude YA B? Ullll ales
31 |Which type of wiring system used in Tree system Bus bar system Ring main system | Distribution board [HcElRe2ls (GUSSotHl st ustell awalal 2l Rien ol olR Rlen oL Ao R | SlElloaet S
multistoried building? system ReHl GuAoL a2 B? Rien
32 [Which is the number of earth leads shall 1 2 3 4 Netoll Gell [Ealloll il HIE W 1 2 3 4
be provided along with vertical runs of Alsell ecll dvall AUl ud 82
rising mains?
33 |What is the name of distribution system? | Ring main system | Distribution board | Rising main system [Bus champer system[il [SRgoj2let R2He] olli 9 87 oL Ao Rieu | SRAlojatst S AL At ol AR Rlren
system RH Rien
‘:T}’WWW/?E
228 - n
Floor
zz %
FLoor
CONDUITING FOR
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2 ? 12-WAY 60A
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1ST ’ ’
bon /
/////,I vz
' é PROTECTED
Z PPER ROD
70 Risens
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CABLE
34 |Which is the permissible power load in a 800 Watts 1200 Watts 2400 Watts 3000 Watts WUBY [AAH Horol UlaR Aol AUlseHl 800 dl2 1200 dl2 2400 dl2 3000 cl2
sub circuit as per IE rule? Yool wat Als el B2
35 |What is the formula to calculate the V3 IR IR IR 3IR 3 505 AlseuHl dlex glusll oLl V3 IR IR IR 3IR
voltage drop in 3 phase circuits ? (If HZo] YA g B? (A I= Aot s2 R=
I=line current R=Resistance of one core) s sRell AARAY )
36 |Which is the permissible voltage drop at 3% 5% 8.50% 12.50% WSS [l ool GUellsclloll Ul 3% 5% 8.50% 12.50%
the point of consumer on high and extra 52C 6l Ul AL 6l AU
high voltage as per IE rule? HleA § ?
37 [Which is the height of distribution boards | Not more than 1m | Not less than 1.5m | Notless than 2m | Not less than 2.5m [U88 P Yol scllk Aacdl 1 H{{lel ay otgl 1.5 {IHlell 201 otel] 2 ll sl 1L otel | 2.5 HlL Al Al otel

to be fixed from floor level as per IE rule?

BRRozjatet lSoll G 3ecll alcll
RSA ?




38 |Which type of distribution is used in Raising mains Bus chamber Tree system Ring main system [a520u cllaRotHl sl Yslell AL oL Aot ol AR 2l Rled Mol AT Rlen
workshop wiring? Sklojatetall GulloL al B2
39 [Which is the thickness of metal conduit 20 SWG 19 SWG 32 SWG 16 SWG BB 2 e 32 mm Ydloll slosye 20 SWG 19 SWG 32 SWG 16 SWG
pipe for conduit size up to 32 mm as per 2 RNed Slesye wesuell st ecll
IE Rule? Al KA 2
40 |Which helps both wireman and consumer Drawing Specification of Layout Estimation stHellact Usel , (sHd uUa vUla2ausAl R wellad of AuB2 U gLy
to select the material according to material UoUR 9 ANt el GUEllsll viatal A g13aet
commercial practice, cost and AHY URlE UMl HEE 52 BD?
requirement?
41 [Which is the reason for using bus bar Occupy less space Give neat Easy addition and | Withstand over load [ulaR Sl2leajlet HIZ adluHl Gl ollR U] oL ol JuUs eull AROYL GARN Al | auR Alsall UHall
system in workshop for power appearance alterations RreHell GulloL sclle] SRl 9 B? auRlel %2512 s2al 52l

distribution?

42

Which method of wiring consumes less
quantity of wire/cable?

Joint box method

loop in back method

loop in using two
plate ceiling rose
and switch

loop in method
using three plate
ceiling rose

AlaBRatell 58 AUS HL dl2R [ $6iEell
U9 29 U B

AeSoe ollel NAUS

QU 8ot As AAUS

g we dldlot A%
U LA ofl
Heedl qu

ol e dldlo Ax»
ol Heedl ¢uoll
nUs

43 |Which accessory is represented by the Combined switch | Interlocking switch | Interlocking switch | Socket outlet 16A [BIS Rliolld gl $8 AAUB ccdlddd UYscl A wa Bozcl(soL <l go2cllsol lu [ Use MBeA2 16 A
BIS symbol? and socket outlet and socket 6A and socket 16A B ? Ade ABeA2 16 A| WA Wd2 6 A ua Wde 16 A
16A
i
44 |Which wire is to be connected through Phase line Neutral Earth Ground WBY laAH Horol saAl dlua A g2t 59 ol Y wd UGS

switch as per IE rule?

sals2 scll A ?




